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Faults (L1)[AT,DT]: [-10.0000, 0.674
E Faults (NC): [0.95048534, 3.0500743

= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

F Condjtioned Data (DCPS), Limits: [-0.75000000, 19.000000]
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[ Action (idl), Max = 1458.52, End Val.= 1458.52
- Full Action (idl), Limit = 1990.00, Max.=1459.68, End Val. 1458.52
| Shot #: 2629, Param Tree: 72
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E_IDL, éircular, [-0.0b784493, 25.6086]

DCPS, Circular, [-0.0078449336, 25.
IDL, Shaped [Displaced], [-0.00671
DCPS, Shaped [Displaced], [-0.00Q,
Shot #: 2629, Param Tree: 72
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